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o I’lease check that this question paper contains 9 printed pages + 3 Maps.

e (ode number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper containg 30 questions,

e DPlease write down the seérial number of the question before attempting it
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SOCIAL SCIENCE

Time allowed 3 howrs Maximum Marks : 80
fuffte gog - g w2 SR 3F ¢ 80

Gleneral Instructions :
i There are 80 guestions in all. All guestions are compulsory.
(i) Marks for each question are indicated against the question.
(iii) Questions from serial nuwmber 1 to 10 are I-mark questions. Answer of these guestions
may be from one word (o one sentence.

(iv) Questions from serial number II to 18 are 3-marks questions. Answer of these
questions should not exceed 80 words each.

(v)  Questions [from serial {:umber 19 to 28 are 4-marks questions. Answer of these
questions should not exceed 100 words each.

fvi) Questions number 29 and 30 are map guestions. Attach the maps inside your answer
boak.
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1. Which agency works for our safety at the State level during disasters ? 1
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11,

Which is the largest sugarcane producing state of India 7 1
aRE T S IWRE O aeE 2 2
Aveording to the World Bank, classify the countries of the world into two groups on i'iha ;

basis of per capita annual income. :I+E=I
forys i % ogan of =fE affs s & smr w fawa & 2 @ @ ant # ey
Define the term ‘Feminist', 1

1| A e |

What is the meaning of ‘patriarchal’ society 7 1
fergeamens T o owd @ 2

?lu;aify munufacturing industries into'two groups on the basis of source of raw mﬂtﬂrifls =
L, iy e

o

2 B 1 OO O 1 (1 M A ) 1 el
How can democratic réforms be carried out ? 1
A A @ G gwmR an) e e e g 7

Defing the term ‘dam’, |

Ay’ g uam Fie

What was the notion of Swaraj for plantation workers in Aggam 7 1
N A Oegd & fon = FoaEyrom g ?

What is the main aim' of Nehru Yuva Kendra ? 1
e T FE W g A R 7

Read the passage given below and answer the questions that follow : ; L+2=0

‘We believe that it is the inalicnable right of the Indian people, as ol any
other people, to have freedom and to enjoy the fruits of their toil and have the
necessities: of life, so that they may have full opportunities of growth. We believe also
that if any government deprives a people of these rights and oppresses them, the
people have a further right to alter it or to abolish it. The British Government in India
has not only deprived the Indian people of their freedom but has based itsell on Lhe
exploitation of the masses, and has ruined India economically, politically, culturally,
and spiritually, We believe, therefore, that India must sever the British connection and
attain Purna Swara) or Complete Independence.

(11.1) When was this pledge to be taken ?
(11.2) Explain the rights of the Indian people which they should have got,
G B 4 i 2 008 e 50 ol - T v O
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(111) 4% wI9 FA & S 4 ?

(1) AT % 3 S @ e s St 3 fied =ik 4 |

Note':  Below are given three groups — A, B and C [or questions number 12 and 13, Select
any one group for answering these two questions.

e T HET 12 HK 13 % w49, @ T @7 a1 E z7 gl st
& am & fou fHe uw wqE F & gAU |

GROUP A
UHE &
12, Bxplain the three types of flows within the international ¢conomic exchanges during
1816 = 1914, Jul=4d

1815~ 1014 3 He SR aihe fafvm § AW T & yaw @ e #e

13. How had a series of inventions in the eighteenth century increased the efficiency of ench
atep of the production process in cotton textile industry 7 Explain. 3

SETEd wé # v sufamR @ gEer 3 g qw IAm # e SR F T w0
ﬁwﬁfﬂmmm?mﬂf&ql

GROUP B
i @
12, Who were the jobbers ? Explain their functions. 142=3
S F & ? 3% FE S WE S |
18. Why is Mumbai (Bombay) known as the city of dreams 7 Give three reasons. dxl=3

g (@) F1 W & Te & FE S oE 2 e wn Qe

GROUP C
HHE T
12. Define the term ‘trade surplus’. How was the income received from trade surplus with
India used by Britain 7 1-+2=3

‘wmﬁﬁfmﬁﬁmﬁﬁlw%mwm%mmwﬁﬁq
g W I9AM &l a1 ?

18. How is urban development directly related to the cost of ecology and environment ?
ixplain, giving examples of industrial cities of England in the nineteenth century. 3
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14. Study the map given below showing major seaports and international airports of Irfd_ia

carefully and answer the questions that follow : IEH'?::
T T | ] ] ] i I
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(14.1) Name three states which have major seaports but do not have international airports

as shown in the map given above.

(14.2) Write the names of the major seaports of these states,
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114.1)

(14.2)
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Note:  The following question 18 for the Blind Candidates only in liew of €. No. 14.

qz WWWWW'%WW#WM%WWﬁ?f

165.

16,

17,

18,

19.

20.

(14.1) Name the northernmost and southernmest international airports of India.

(14.2) Name the easternmost and westernmost major seaports of India along with their
grates; 1+8=4

(14.1) Wﬁwmmmwmﬁﬁnﬁ%wml

(14.2) 'mﬂ%mfgﬁiﬁmwﬂﬂﬁﬂﬁlg@ﬂ@nﬁ%wﬁ%nﬁﬁ%m

e |
Anulyse the funotions of consumer protection councils 3
s U TR & A ) e Wi |
Bxplain any three protection measures for the buildings in flood-prone areas. axl=d

W@ﬁ%ﬁﬁﬁﬁﬁ:ﬁiﬁ%ﬁﬁﬁ?ﬂﬂﬂlﬁaﬂmmn

How does demoeracy stand much superior to any other form of government in promobing
dignity and freedom of the individual ? Explain with suitable examples. lE +1—-=3

mﬁmmmﬁm-ﬁmmw-mwmﬁrﬁﬁm
s i o § 7 T QR Hied TE AT |
(Hye u brief deseription of the three degrees of burns. Bel=y

aﬁﬂﬂﬁﬁq%ﬁﬁﬂﬁﬂﬂﬁﬁmaﬁﬁl

How was the formation of the nation-state the result of a long-drawn-out process m

Britain 7 Explain, 4
OR
Explain the two different yisions in opposing foreign domination in Vietnam, ZipBd=il
ﬁéﬂﬁw—mwﬁnﬁmﬂﬁaﬁlmmmmmm pk L
FHgEn

ﬁﬂmﬂﬁﬁ%ﬁaﬂﬁ%ﬁﬂaﬁmﬁﬁﬁaﬁmﬂaﬁﬂmm1

Study the diagram given bhelow and answer the questions that follow : 14 142=4

Sources of Credit for Rural
Households in India in 2003

Traders
Relatives and Friends

1%
Landlords <

25%
Commercial
Banks

Cooperative
Societies

J23 B




(20.1)  Which are the two major sources of credit for rural households in India ?

(20.2) Which one of them is the most dominant source of eredit for rural househalds 7

(20.3) Why is it the most dominant source of credit ? Give two reasons,

?ﬁ%ﬁ@wﬂﬁammﬁﬁqaﬂ(aﬁa%ﬁmnﬂw%mﬁm:

Nuote ;
e :

C L2000

ad 2003 ¥ wra F mndoy )
UfEnl & "W # Hie
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i 2
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1% ik
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ol I |

W WA At e wE % S o e ah d 2

(20.2) & H AT SRERS F @ W wAd wE S s g 2

(20.3) 7@ T F WY w96 w0 = 2 3wy df |

The following question & for the Blind Candidates only in lew of €. No. 20,

ﬁmﬁ@ﬁmiﬁﬁm@sﬁw#mmmm%wwﬁf

What are the two main groups of credit for rural households in India ? State two
fentures of each, 242=4

Rk e R A e R T R R B e e
E i

21. “Bome people conclude that politics and social divisions should not be allowed to mix.”
Support this idea with two arguments. 2+2=4
WiET 1" 38 FER A S w9 weEar @ o sk |

22. Explain four points of distinction between conventional and non-conventional sources of
ENETEY: dx]=d
TRAT $ R S % A6 ¥ 9R we @E w6 |

23. Why is there a lack of internal democracy within the political parties in India 7 Explain
with examples. : 4
U W S gE & e seRe a3 FW e @ 2 Few Hiew wE

st
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24,

25,

26.

27.

28.

28.

Classify resources on the basis of the status of development into four groups. Explain the
main features of each group. 242=4

HaEEr F FEE F ER F AN W AR A H Aien | 5 91 & qed v
H SR H

On what type of principles is the Indian Union based ? Describe the threefold
distribution of lemslative powers between Union Government and the State Governments.
1+3=4-

A HY & e A el W OgE # 2 % HER SN Uw e & dw A
i W At faar sfimrl woanls s |

How were ideas-and information written before the age of print in India ¥ How did the

printing technigue begin in India ? Explain, 242=4
OR

How did the colonial administrators find vernaculir novels to be a valuable source of

infprmation on native life and customs 7 Explain with examples, dxl=4

e LB MG B G o e A e B SR A R B
g [0 TR A g 7 WE R

rear
sityfafeE yyreE @ & sy § 2R Sftew o dffEst 8 St Sl w9
Hin &9 R W S 2 e HiE W A |

What is the meaning of ‘Underemployment’' ? In which economic sector arve
underemployment conditions more prevalent 7 Why is it 0 7 Explain two reasons.  1+1+2=4d

‘SeETR § o s @ 2 e aifds dem F e s @ ogwe s
e G A o B Bt i B el
Why is ‘tax’ on imports known as a trade barrier ? Why did Indian Government impose

barriers to foreign trade and foreign investments after Independence 7 Give three
reasons, T+8=4

AN W S W AR SEEs & B9 H @ W 9 8 2 WA & oaw e
wER % Rl =mr o R Fegl w aEe =5 a2 9 w5 g |
i) On the given political outline map of India {on page 10), a place is ghown by

number 1, which was a famous large-scale industrial region on the eastern coast of
the country in 1931. Identify and write the correct name of this place en the line

drawn on the map. !
(ii). ©On the same map of India {on page 10), shade and name the state where the
Champaran movement of Indigo planters started. 1=

) fw T WRE & TeiGs @y (I 10 W) R S 1 g I WE E
femm T S g aea # oW & @ Ae W T WfEg 9% UAR W S &
9 | TH MH W TEYE S AT SEH 94 99 gEaE [k 78 @ W
fafEn |

(i) WRA & T A (I 10 W) 8 3W U9 F omifed HEw i ImE AW
fefan =@ e & @l w0 G e 3 SEET e e e ar |
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30. On the given political outline map of India (on page 11), are shown four geographical
features A, B, C and D, Identify these features with the help of the map key and write

their correct names on the line marked against each in the map., dxl=4
OR

On the given political outline map of India (on page 12), locate and label the following

features : dul=d

(i) Tehri Dam
(i) Korba Thermal Power Plant
(111} Coimbatore — Cotton Textile Industry

(iv)  Pune - Software Technological Park

feu e e & o YT (0 11w § R wiifers ST A, B, ¢ 3k p

Tﬁwmﬁrqﬂfﬂﬁﬁﬂvﬁﬁaﬁmﬁﬁm%ﬁmﬁhmﬁaﬁ

Hﬁl‘i%{ﬁﬁiﬂﬂﬁ%@ﬁﬁ%ﬁﬂmﬁﬁmr

g

few T wreE & TerifaE et (7% 12 ®) # Ffofaa wemil 4 faf foamn

R 3% Am fafay

() 2E{ 9y

(i) WA o v G

(i) #FEEy ~ g aw nm

(v) §9 - WivEda senfiet o

Note :  The following question is for the Blind Candidates only in lieu of @, No. 29 and
30
iz : ﬁ’?ﬁ?ﬁ?ﬁméﬁﬁqﬁﬁ?ﬁmﬁﬁémmmwﬁwimw

i

(i) - Name the important industrial centre of south India in 1931,

(n) Name the state where Indigo planters movement was started.

(iii)  In which state is Tehri Dam located 7

iy} Name the state where Korba thermal power plant is located.

(v} Name the state where Coimbatore is located.

{(vi] In which state is Pune located ? bx1=6

(i T 1931 % SRV WRE & Hewql sl S 5 AW gaRT |

(i) mmwmmﬁﬁﬂaﬁéﬁmﬁﬁﬁﬁmﬁﬂaﬁﬁmﬂﬁgm
g |

(i) <ult Y g vy H fug £ 2

tivl 39 U9 &1 9 901 foms FRa1 a9 wfs 997 fa 2 |

(v) El::l?ﬂ'ﬂ'r'g frg g 4 fogm & 2

i) T o Tes  fiem 2
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For question no. 29 §99 H. 29 % e

Outline Map of India (Political)
WA &1 3@T- WA (i)

e e
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For questian ng, 30

R H. 30 % fe

Outline Map of India (Political)
I T I~y (TTsitfirs)
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For question no. 30 OR YT 4. 30 AGET F ferm

Outline Map of India (Political)
A &1 - et (Teifoe)
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